Binomical Theorem
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1. The value of (a + b)* is
a. a* + 423%b + 6a2b? + 4ab’ + b* 5. Which one is larger (1.01)'°°°% or 10000?
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d. None of these. ) )
(1.01)1%% 31 10000 ¥ B It I G&AT 23—
(a+b)* &1 A9 T —
a. a* + 4a%b + 6a2b? + 4ab® + b* a. 10000 b. (1.01)1000000
b.  a*+6a’b+4a’b? + 6ab’ + b* c.  (100000) x (0.1) d. TTH A DI =l
4 + 3 + 2K2 + 3 + 4
© a -4a b+4a b_ 4ab’+b 6. In the expansion (1 — 2x)* coefficient of x° is—
d. =T 9 P8 T
a. —2) b. —(2)
2. The value of (a + b)’ is- @y d )
a. (at+Db) b. (a—b)
c. (a+by d 1 (1-2x)°D UUR ¥ x°® U & 99 2—
(a + b)l]ib—[ HHE é‘_ a. —(2)2 b. —(2)3
(2 (D)5
a. (a+b) b. (a—b) 2) d )
c. (a+b)? d 1 7.  In the expansion (1 — 2x)° coefficient of x* is—
3. The coefficient of % in the expansion a. -2y b 2y
, 3\ . X (-2) d. None of these
(X +;> ;X #0is—
1 (1-2x)d YOR A x* D [UIH & 99 3—
a. 81 b. 31
_2) 9y
c. 1 d. None of these. a =2) b ( 2)_ ]
c. (-2 d. STH 9 &I T8 |
4
<X2+i)$tﬂ=ﬂ?ﬁL$ RUICCA N E | 5
X 4 . 2 x . 1
. (x % 0) X 8. In the expansion of X coefficient of <
is—
FefT-11 (0T —




a. 20 b. 20 (x+y)d YOR ¥ 7Y UG B—
—40 d. 40 a. 2x2y? b.  4x%y?
c. 6x2y? d.  8x%?
(%—%) ® UAR A —5 B OIS BT AN Y Y
L 14.  Coefficient of x*y” in the expansion of (x + y)*is—
a. 20 b.  —20 & iz z' g A
c. 40 d. 40 © ‘
9. The number of terms in the expansion of (X+Y)4$ EEI] Xzyza} TN BT AT e
(2x+3y)"7 is:- a. 3 b. 6
a. 16 b. 17 C. 12 d 24
¢ 34 d. 18 15.  The coefficient of x’y in the expansion (x + y)* is—
Qx+3y)" & fgue yuR & ual @ d&ar 28— a. e b.
a. 16 b. 17 c. o d. e,
c. 34 d. 18 (x+y)'® YR § Xy ® OIS BT A 8—
10. The number of terms in the expansion of a. ‘e, b.
10
<3X_§]> is c. ‘e, d. “c,
a 10 b, 11 16. The coefficient of xy? in the expansion (x + y)*is
c. 12 d 13 a. 6 b 2
5\ c. 8 d 4
<3X_y> % TR ¥ uaT B wer - x+y)'® TR ¥ xy’ S UG ST A 28—
a. 10 b. 11 a. 6 b. 2
C. 12 d 13 c. 8 d 4
11. The number of terms in the expansion of 17. The value of (a +b)*— (a—b)*is
(\/74-\/7) ([ \/7) is— a 2[4cla3b+4cgab3]
& b3 b 3[*cia’b +“csab’]
c. 4 d 5 ‘ 1 ’
c. [*cia’d+‘csab’]
+ —Jy) gl
(\/7 \/7> <‘/; ‘/§) d WA A gar # d. None of these.
e 23—
a. 2 b. 3 (a+b)'—(a—b)* & 9 B—
c. 4 d 5 a. 2[*cia’b+“csab’]
12. The term idependent of x in the expansion of b. 3[*cia’b+*ciab’]
10
<X+%> is— c. [*cia’b+"*csab’]
a. 252 b. 210 d. =9 9 P T8
¢ 205 d. 200 Very Short Answer Type Questions
10 W—\ﬁ—q
(x+%> D UUR A x 9 Wad ug 2— &l G2 )
4
a 252 b. 210 1,  Expand (Xz + i) ;X £ 0.
c. 205 d. 200
(x + > x #0 BT fgue TR &Y |
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1. By using binomial theorem find the value of (99)*.
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2. Expand {(a +b)' +(a— b)4} and use it to evaluat.
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1 a 2 d 3 a 4 c 5 b 6 d
7 a 8 ¢ 9 d 10 b 11 d 12 a

13 ¢ 14 ¢ 15 a 16 d 17 a

Very Short Answer Type Questions
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1. ‘We have,
(23
(X)) e ()’ (%) + 402(X2)2-<%)2 +
000 () e 2]

= X8+4X6.§+6X4.?+4.X2.%+%
— X5+ 125+ 54x2 + 108 | 81
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2. We know that,
(x*+2y)
_eo(x)’+Ha(x) . 2y) e (x) . 2y)* +
ey (x)2.(2y) +cax’.(2y) +7¢s(2y)’
x4+ 10x*y +40x°y* + 80x 'y’ + 80x*y* + 32y’
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1. ‘We know that,
(99)*= (100 — 1)*
_ *¢o(100)* —*¢,(100)* X 1 +*¢,(100)* X (1)* —
“ey X (100) X (1) +*ca X (1)*
= (100)*—4 X (100)*+ 6 X (100)*—4 X 100+ 1
= 100000000 — 4000000 + 60000 — 400 + 1
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=96059601

We have,
(a+b)*+(a-b)

{*coa* +'cia’b+"c,a’b’+*c;ab’ +*c,b'p+
~{fcoa*—*cia’b+*c.a’b> —“ciab’ + e bt}
= 2{*coa*+*ca’b’ +*cib '}
hence,
= (xX*+y1-x)+(x>*=/1—x%x)
= 2 () e X (1 =x) + e (/T3]
=2[x*+6x'(1 —x%) + (1 —x%)’]
=2[x*+6x'—6x°+1—2x"+x']
=2[x*—6x°+ 7x* —2x*+ 1]
=2x*—12x°+ 14x* —4x*+2






